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DIRECTIONS

In this assessment you will answer a total of 21 questions, including 4 constructed-response
question(s). Mark all of your answers to the questions on the answer sheet provided.

You may use this test booklet to work out the questions, but remember to mark all of your

answers on the answer sheet. For constructed-response questions, record your answers directly
on the page in the test booklet.

Calculator Section

You may use a calculator to solve the questions in this section.



1. Which table does not represent a
proportional relationship?

A.

z y
3 2
6 4
9 6
12 (8
15 |10
z y
3 6
6 12
9 18
12 |24
15 [30
z y
2 4
5

8 10
11 |13
14 |16
z y
5 1
10 |2
15 |3
20 |4
25 |5

2. The large rectangle below was created
from the small rectangle using a
scale factor of 2.5.

6 cm

4 cm

What is the area of the large rectangle, in
square centimeters?

A. 26.5
B. 55.25
C. 60
D. 150



3. A person bikes 2 % miles at a constant rate | 4 A circle has a diameter of 8 centimeters,
as shown below.

.1
in ¢ of an hour.

What distance, in miles, does the person
bike in an hour?

1 8 cm
A 5
5
B. +
C. 16
D. 20 What is the area, in square centimeters, of

the circle?

A. 4z
B. 8=n
C. 16w

D. 64xw




5. Nathan is using his grandmother's recipe to make pies.

On Monday, he used 15 % cups of sugar to make 9 pies.

On Tuesday, he used 22 2 cups of sugar to make 13 pies.

Which of the following statements must be true?

Select all that apply.

A. Heused 1 cup of sugar for every 1 Z pies he made.

He would use 14 cups of sugar to make 8 pies.

The number of cups of sugar is proportional to the number of pies he made because
he used the same number of cups of sugar for each pie he made.

D. The number of cups of sugar is not proportional to the number of pies he made
because the increase in the number of cups of sugar between Monday and Tuesday is
greater than the increase in the number of pies.

E. If Nathan uses8 Z cups of sugar to make 5 pies on Wednesday and then graphs the

points, for all three days, to represent the relationship between the cups of sugar used
and the number of pies made, the points would not fall on a straight line.



6. A student graphs a line that passes
through the point (3, 15) and the origin.

Which points could also be on the graph
of the line?

Select all that apply.

I I I =

7. Anna made a scale drawing, in inches, of a
building using a scale of 1:600. Her scale
drawing was 6 inches long. Greg made a
scale drawing of the same building using a
scale of 1:300.

How long, in inches, was Greg's scale
drawing?

A. 2
B. 3
C. 12
D. 50



8. The table below shows the total number of hours Jessica, Emily, and Trina each studied
after a given number of weeks.

Weeks Jessica’s Emily’s Trina’s

Total Hours Total Hours Total Hours
Studied Studied Studied

2 5) 5) 5)

4 10 10 10

8 20 15 20

10 40 20 25

Part A

One of the relationships between weeks and total hours studied is proportional.
« Whose number of total hours studied is proportional to the number of weeks

studied?

» For the proportional relationship, write an equation to represent y, the total
number of hours studied, in terms of z, the number of weeks.
» Explain how you determined your equation.

Respond in the space provided.




Part B
If the proportional relationship continues, what is the total number of hours this person
will have studied after 14 weeks? Write your answer as an ordered pair.

Respond in the space provided.



9. Johan is mixing paint. He mixes 2 ; pints

of blue paint and 4 é pints of yellow paint.

Which of the following has a ratio of blue
paint to yellow paint that is proportional
to the amounts used in Johan's paint
mixture?

A. ; pints of blue paint and 2 % pints of
yellow paint

B. 1 é pints of blue paint and 2 1—12 pints

of yellow paint

C. 8 é pints of blue paint and 5 % pints

of yellow paint

D. 8 ; pints of blue paint and 16 é pints

of yellow paint

10. Mora is using a map to find the distance

11.

between her house and her cousin's
house. She knows that 2 centimeters on
the map represent 300 miles. On the map,
the distance between her house and her
cousin's house is 20 centimeters.

What is the distance, in miles, between
Mora's house and her cousin's house?

A. 150
B. 320
C. 3,000
D. 6,000

Katherine uses % of a gallon of red paint

to paint g of her wall.

How many gallons of red paint will she
use to paint her whole wall?

A 2
B.
C. 1;
D. 1.



12. A circular piece of wood has a
circumference of exactly 60.5 inches.

Which measurement is closest to the
radius, in inches, of the piece of wood?

Use 3.14 as an approximation of r.

A. 44
B. 9.6
C. 193
D. 95.0



13. Use the graph to answer the prompts below.

Y
10“
9 A
8 /
; /
/
6 /
5
4
3 /
1/
/
11/
0 > X
12345678910

Part A
Determine whether the graph above represents a proportional relationship. Give two
pieces of evidence that support your answer.

Respond in the space provided.



Part B
When extended, does the ray pass through the point (18, 30)? Justify your answer.

Respond in the space provided.



Non-Calculator Section

You may not use a calculator to solve the questions in this section.

14. The graph below shows the cost, in

dollars, per notebook at the school store.

A Notebook Costs
14
12
= 10 /
E /
S 8
S /
g ¢ //
S 4 //
2 /

0 1 2 3 4 5 6 7
Number of Notebooks

Which equation represents the total cost,
t, per n notebooks?

A. n=2t

B. n=241

C. t=24n

D. t=042n



15. Tyrone works at a furniture store and assembles chairs at a constant rate. The number of
chairs that Tyrone assembles is proportional to the amount of time he works, as shown in
the graph below.

Chairs Assembled
A by Tyrone over Time

15
12
<
S
= 9
@]
26
g
Z 3

>

0 1 2 3 4 5
Time Worked (in hours)

Based on the graph, which statements are true?
Select all that apply.

A. The point (0, 0) shows Tyrone assembles 0 chairs when he works for 0 hours.

0

B. The point (0.5, 1.5) shows Tyrone assembles 0.5 chairs when he works for 1.5 hours.
C. The point (1, 3) shows Tyrone assembles 3 chairs when he works for 1 hour.

D. The point (3, 9) shows that, when Tyrone works for 9 hours, he assembles 3 chairs.
E

The point (3.5, 10.5) shows that, when Tyrone works for 3.5 hours, he
assembles 10.5 chairs.



16. In the table below, the number of pounds
of blueberries is proportional to the
number of pounds of strawberries.

Pounds of Pounds of
Strawberries Blueberries
- 1 . 1
3 2
10 1 8 !
5 10
121 92
2 8
15 1
11 1

What is the number of pounds of

blueberries per pound of strawberries?

3
A
5
B. :
1
C. 14

O
—_
S| Ut




17. Part A

3 .1 . 1 . . 3
On Monday, Becca ran 3 7 miles in 3 of an hour, and Alice ran 5 7 miles in 7 of an hour.

Who ran faster, and by how many miles per hour? Justify your answer.

Respond in the space provided.

Part B

Write an equation that represents the number of miles, m, Becca ran in 4 hours on
Monday.

Write an equation that represents the number of miles, m, Alice ran in 2 hours on Monday.

Explain how you determined your equations.

Respond in the space provided.



18. The graph below shows the relationship
between the distance traveled by a car and
the gas used by the car.

A Car’s Gas Mileage

250

[\
S
(=)

o
(U4l
S

100

9]
S

Distance (in miles)

>
0 2 4 6 8 10
Gas Used (in gallons)

Which statement correctly represents the
point (7, 175)?

A.

The car travels 7 miles per gallon of
gas used.

The car travels 175 miles per gallon of
gas used.

The car travels 7 miles for
every 175 gallons of gas used.

The car travels 175 miles for
every 7 gallons of gas used.



19. The graph below represents the number of cars that can be cleaned over time at Sparkle
Car Wash.

Cars Cleaned over Time
50
45

40 /1

» 35 /

=
=
< 30
S
°

= 25
o

-220
3 /

15 /

10 v

5/
0 >
05 1 15 2 25 3 35 4 45 5

Time (in hours)

How many cars can Sparkle Car Wash clean per hour, rounded to the nearest tenth?
Respond in the space provided.

If your test is on paper, write your answer on the answer sheet.



20. Kenwyn is making flower arrangements
for an event. The table shows the number
of flower arrangements, f, she can make in
m minutes.

Time, in Number of flower
minutes (m) arrangements (f)
32
48
64
80 10

Which equation represents the
relationship between the number of
flower arrangements she can make and
the time, in minutes, it takes her to make
the flower arrangements?

A. f=0.125m
B. f=2m
C. f=8m
D. f=m+ 16



21. The graph below shows the relationship between the time in hours, z, and the cost in
dollars, y, to hire a face painter.

Cost to Hire a
A Face Painter

200

150 /

100 /
/
50 /

/4

0 1 2 3 4 5 6
Time (in hours)

Cost (in dollars)

L
>

What is the value of y in the point (1, y)? Explain what this coordinate point represents in
the context of the situation.

Respond in the space provided.
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Item Id: 1138981 Item Type: Selected Response

Standards Description:

7.RP.A.2.a Decide whether two quantities are in a proportional relationship, e.g., by testing for
equivalent ratios in a table or graphing on a coordinate plane and observing whether the
graph is a straight line through the origin.

Primary Standard: cc:7.RP.A.2.a Points Possible: 1

Which table does not represent a proportional relationship?

A. Student chose a proportional relationship (3:2).
Z )

3 2

6 4

9 6

12 8

15 10

B. Student chose a proportional relationship (1:2).
Z )

3 6

6 12

9 18

12 24

15 30




C.

z Y

2 4

5

8 10
11 13
14 16
D.

z Y

) 1

10 2

15 3

20 4

25 )

Correct.

Student chose a proportional relationship (5:1).



Item Id: i113217 Item Type: Selected Response

Standards Description:

7.G.A.1 Solve problems involving scale drawings of geometric figures, including computing actual
lengths and areas from a scale drawing and reproducing a scale drawing at a different
scale.

Primary Standard: cc:7.G.A.1 Points Possible: 1

The large rectangle below was created from the small rectangle using a scale factor of 2.5.

6 cm

4 cm
What is the area of the large rectangle, in square centimeters?

A.26.5 Student added 2.5 to the area of the small rectangle.

B. 55.25 Student added 2.5 to each dimension before
multiplying the dimensions to find the area; did not
recognize to multiply each dimension by 2.5.

C. 60 Student multiplied the area of the small rectangle by
2.5; did not recognize to multiply by 2.5 twice to
equate to multiplying each dimension by 2.5.




Mathematics Grade 7 Assessment 1

D. 150 Correct.
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Item Id: i138125 Item Type: Selected Response

Standards Description:
7.RP.A.1 Compute unit rates associated with ratios of fractions, including ratios of lengths, areas
and other quantities measured in like or different units.

Primary Standard: cc:7.RP.A.1 Points Possible: 1

. 1 . L1
A person bikes 2 3 miles at a constant rate in 3 of an hour.

What distance, in miles, does the person bike in an hour?

AL Student divided 1/8 by 2 1/2.
" 20

B > Student multiplied 2 1/2 by 1/8 instead of dividing.
16

C.16 Student divided 2 by 1/8, ignoring the 1/2 in 2 1/2.

D. 20 Correct.



Item Id: 1138872 Item Type: Selected Response

Standards Description:

7.G.B.4 Know the formulas for the area and circumference of a circle and use them to solve
problems; give an informal derivation of the relationship between the circumference and
area of a circle.

Primary Standard: cc:7.G.B.4 Points Possible: 1

A circle has a diameter of 8 centimeters, as shown below.

8 cm

What is the area, in square centimeters, of the circle?

A. 4w Student calculated pi x r instead of pi x r*2.

B. 8% Student confused the circumference with the area, OR
student squared 4 as 4 x 2 instead of 4 x 4.

C. 16w Correct.

D. 64~ Student confused the radius with the diameter.



Item Id: 1116490 Item Type: Multiple Select

Standards Description:
7.RP.A.2 Recognize and represent proportional relationships between quantities.

Primary Standard: cc:7.RP.A.2 Points Possible: 1

Nathan is using his grandmother's recipe to make pies.

3 .
On Monday, he used 15 1 cups of sugar to make 9 pies.

3
On Tuesday, he used 22 7 cups of sugar to make 13 pies.

Which of the following statements must be true?
Select all that apply.

3. i i
A. He used 1 cup of sugar for every 1 ? pies he made. Student found the constant of proportionality, but

reversed the quantities; did not recognize that he

3 .
uses 1, cups of sugar per pie.

B. He would use 14 cups of sugar to make 8 pies. Correct.

C. The number of cups of sugar is proportional to  Correct.
the number of pies he made because he used the

same number of cups of sugar for each pie he

made.

D. The number of cups of sugar is not proportional to  Student did not recognize that the quantities are in a
the number of pies he made because the increase in the proportional relationship.

number of cups of sugar between Monday and Tuesday

is greater than the increase in the number of pies.




3
E. If Nathan uses 8 7 cups of sugar to make 5 pies on

Wednesday and then graphs the points, for all three
days, to represent the relationship between the cups of
sugar used and the number of pies made, the points
would not fall on a straight line.

Student did not recognize that the quantities are in a
proportional relationship, and therefore the points
would fall on a straight line; did not understand that
no matter how many points are added, the line will be
straight because the quantities are proportional.



Item Id: i138946 Item Type: Multiple Select

Standards Description:

7.RP.A.2.a Decide whether two quantities are in a proportional relationship, e.g., by testing for
equivalent ratios in a table or graphing on a coordinate plane and observing whether the
graph is a straight line through the origin.

Primary Standard: cc:7.RP.A.2.a Points Possible: 1

A student graphs a line that passes through the point (3, 15) and the origin.

Which points could also be on the graph of the line?

Select all that apply.

A. (1, 3) Student miscalculated the constant of proportionality
as 3 instead of 5.

B. (2, 10) Correct.

C. (2, 14) Student thought that subtracting the same value (1)
from the x- and y-coordinates would result in a point
with the same proportional relationship.

D. (6, 30) Correct.

E. (7, 21) Student miscalculated the constant of proportionality

as 3 instead of 5 and identified a point proportional to
1, 3).

F. (9, 45) Correct.




G. (8, 20)

Student thought that adding the same value (5) to the
x- and y-coordinates would result in a point with the
same proportional relationship, OR student chose a
point which has the same difference between the x-
and y-coordinates as (3, 15).



Item Id: i113099 Item Type: Selected Response

Standards Description:

7.G.A.1 Solve problems involving scale drawings of geometric figures, including computing actual
lengths and areas from a scale drawing and reproducing a scale drawing at a different
scale.

Primary Standard: cc:7.G.A.1 Points Possible: 1

Anna made a scale drawing, in inches, of a building using a scale of 1:600. Her scale drawing was 6 inches long.
Greg made a scale drawing of the same building using a scale of 1:300.

How long, in inches, was Greg's scale drawing?

A.2 Student divided 600 by 300.

B.3 Student did not find the actual length of the building
using Anna's scale and calculated the length with 600/6
= 300/x, OR student reasoned that since 300 was half of
600, Greg's length would be half of 6.

C. 12 Correct.

D. 50 Student divided 300 by 6; possibly confused replicating
the scale drawing with a new scale with finding the
scale factor.




Item Id: i130836 Item Type: Constructed Response

Standards Description:
7.RP.A.2 Recognize and represent proportional relationships between quantities.

Standard(s) for Mathematical Practice:

MP2 Reason abstractly and quantitatively.
In this item, students need to make sense of quantities and their relationships in the
context of the situation. In Part A, students represent the situation with an equation
using given variables, and in Part B, students need to contextualize the mathematics to
find an unknown value.

MP4 Model with mathematics.
In this item, students need to write an equation to represent a real-world problem. In
Part B, students can use this equation to solve for a missing value in the context of the
situation.

8A

Primary Standard: cc:7.RP.A.2 Points Possible: 3

The table below shows the total number of hours Jessica, Emily, and Trina each studied after a given number of

weeks.
Weeks Jessica’s Emily’s Total Hours Trina’s Total Hours
Total Hours Studied Studied Studied
2 5} ) 5)
10 10 10
8 20 15 20
10 40 20 25
Part A

One of the relationships between weeks and total hours studied is proportional.
« Whose number of total hours studied is proportional to the number of weeks studied?
» For the proportional relationship, write an equation to represent y, the total number of hours studied, in
terms of z, the number of weeks.
» Explain how you determined your equation.



Respond in the space provided.

Exemplar Student Response:
Equivalent answers and alternate explanations are also accepted. When prompted, answers may vary due to

rounding or estimation.

There is a proportional relationship between weeks and Trina’s total hours studied.

25rx=y

Each number in the Weeks column can be multiplied by 2.5 to get the number of hours Trina studied after
that many weeks. This means 2.5z will give you y.

Evidence Statement(s):

1. Student identified the proportional relationship of weeks to total hours studied by testing
equivalent ratios, or graphing on a coordinate plane and observing whether the graph is a straight
line through the origin.

2. Student represented the proportional relationship with an equation relating weeks, z, and total
hours studied, y.

3. Student explained how they found the constant of proportionality and used it to represent the
proportional relationship in the equation.

Common Misconception(s):

» Student may have confused linear with proportional and chose Emily's total hours as proportional
to weeks because they increase by 5, possibly creating the equation y = 5z.

« Student may have thought a geometric pattern in Jessica’s total hours represented a proportional
relationship, possibly creating the equation y = 2z; may not recognize all proportional
relationships create a straight line.

« Student may not have recognized a proportional relationship needs to go through (0, 0).

« Student may have reversed the z- and y-variables.

» Student may have used the pattern in the total hours studied as the constant of proportionality
(possibly representing Emily’s relationship as y = 5x), not recognizing that the weeks do not
increase by 1 and therefore the change in the total hours is not the constant of proportionality.

8B

Primary Standard: cc:7.RP.A.2 Points Possible: 1



Part B
If the proportional relationship continues, what is the total number of hours this person will have studied after
14 weeks? Write your answer as an ordered pair.

Respond in the space provided.

Exemplar Student Response:
Equivalent answers and alternate explanations are also accepted. When prompted, answers may vary due to
rounding or estimation.

25r =y
2.5(14) = 35

(14, 35)
Trina will have studied 35 hours after 14 weeks.

Evidence Statement(s):
1. Student used the proportional relationship (identified in Part A) to determine the number of hours
Trina will have studied after 14 weeks; may have used equivalent ratios or used an equation.
2. Student represented the ratio as an ordered pair in which the z-value represented the weeks and
the y-value represented the hours studied.

Common Misconception(s):
» Student may have reversed the variables when solving and divided the number of weeks by 2.5 to

3
geth z hours.

» Student may have reversed the coordinates when writing an ordered pair.
 Student may have used the pattern in the “Trina’s Total Hours Studied” column of the table (add 5,
multiply by 2); multiplied 25, the last value in Trina’s column, by 2 and wrote (14, 50).



Item Id: i138953 Item Type: Selected Response

Standards Description:

7.RP.A.2.a Decide whether two quantities are in a proportional relationship, e.g., by testing for
equivalent ratios in a table or graphing on a coordinate plane and observing whether the
graph is a straight line through the origin.

Primary Standard: cc:7.RP.A.2.a Points Possible: 1

. . . . . 2 . . . .
Johan is mixing paint. He mixes 2 3 pints of blue paint and 4 g bints of yellow paint.

Which of the following has a ratio of blue paint to yellow paint that is proportional to the amounts used in
Johan's paint mixture?

2 . . . . i
A - pints of blue paint and 2 - pints of yellow paint Student subtracted 2 from the amount of both paint
colors; thought that subtracting the same number from
both values would create a ratio with a proportional

relationship.

B.1 % pints of blue paint and 2 % pints of yellow Correct.

paint

1 1 - . .

C.8 3 pints of blue paint and 5 3 pints of yellow paint Student multiplied each quantity by 2 to find
proportional amounts of blue and yellow paint, but

switched the respective values (in setting up the

proportion or after finding the proportional amounts).

2 . . . . i
D.8 - pints of blue paint and 16  pints of yellow paint Student chose amounts of paint where only the whole
numbers are proportional to the amounts used in
Johan's mixture; did not take into account that the

fractional amounts should also be multiplied by 4.




10

Item Id: i112404 Item Type: Selected Response

Standards Description:

7.G.A.1 Solve problems involving scale drawings of geometric figures, including computing actual
lengths and areas from a scale drawing and reproducing a scale drawing at a different
scale.

Primary Standard: cc:7.G.A.1 Points Possible: 1

Mora is using a map to find the distance between her house and her cousin's house. She knows that
2 centimeters on the map represent 300 miles. On the map, the distance between her house and her cousin's
house is 20 centimeters.

What is the distance, in miles, between Mora's house and her cousin's house?

A. 150 Student found the scale of 150 miles to 1 centimeter,
but did not multiply 150 by 20.

B. 320 Student added 300 miles and 20 centimeters.
C. 3,000 Correct.
D. 6,000 Student multiplied 300 miles by 20 centimeters; did

not find the miles per centimeter (150) before
multiplying by 20 centimeters.




11

Item Id: i138129 Item Type: Selected Response

Standards Description:
7.RP.A.1 Compute unit rates associated with ratios of fractions, including ratios of lengths, areas
and other quantities measured in like or different units.

Primary Standard: cc:7.RP.A.1 Points Possible: 1

7 3
Katherine uses M of a gallon of red paint to paint z of her wall.

How many gallons of red paint will she use to paint her whole wall?

A 21 Student multiplied the fractions instead of dividing;
50 student possibly set up the proportion incorrectly.

B s Student found the gallons of red paint used to paint the
15 remaining 2/5 of the wall.

C.1- Correct.

D. 1 3 Student added the fractions instead of dividing;

10 student possibly confused "whole" with "total" and

used addition.




12

Item Id: i138873 Item Type: Selected Response

Standards Description:

7.G.B.4 Know the formulas for the area and circumference of a circle and use them to solve
problems; give an informal derivation of the relationship between the circumference and
area of a circle.

Primary Standard: cc:7.G.B.4 Points Possible: 1

A circular piece of wood has a circumference of exactly 60.5 inches.

Which measurement is closest to the radius, in inches, of the piece of wood?

Use 3.14 as an approximation of .

A.44 Student calculated the radius as though 60.5 were the
area instead of the circumference.

B.9.6 Correct.

C.19.3 Student forgot to divide by 2, calculating the diameter
instead of the radius.

D. 95.0 Student multiplied by pi instead of dividing by pi (60.5
X 3.14)/2.
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Item Id: 1110209 Item Type: Constructed Response

Standards Description:

7.RP.A.2.a Decide whether two quantities are in a proportional relationship, e.g., by testing for
equivalent ratios in a table or graphing on a coordinate plane and observing whether the
graph is a straight line through the origin.

Standard(s) for Mathematical Practice:
MP3 Construct viable arguments and critique the reasoning of others.
In this item, students need to support their conclusion with evidence from the graph.

13A

Primary Standard: cc:7.RP.A.2.a Points Possible: 1

Use the graph to answer the prompts below.

—_
=

— D W R N 0O

/!

X

(=]

1 23 456728 910

Part A
Determine whether the graph above represents a proportional relationship. Give two pieces of evidence that

support your answer.

Respond in the space provided.

Exemplar Student Response:




Equivalent answers and alternate explanations are also accepted. When prompted, answers may vary due to
rounding or estimation.

This graph represents a proportional relationship because it is a straight line and it goes through the
origin.

Evidence Statement(s):
1. Student determined that the graph represents a proportional relationship.
2. Student stated a characteristic of a proportional relationship is all the points fall in a straight line;
student may or may not have provided points on the graph (3, 5) and (6, 10) that are proportional.
3. Student stated a characteristic of a proportional relationship is the inclusion of (0, 0).

Common Misconception(s):

» Student thought the line does not represent a proportional relationship; may have thought the line
needed to go through more distinct points on the graph (for example (1, 2)) to be able to test for a
constant of proportionality.

» Student thought the line does not represent a proportional relationship; possibly tried to identify
the constant of proportionality to test points on the graph, but was unable to with the given point
(3, 5); may not have understood how to find the unit rate when y is not a multiple of x.

13B

Primary Standard: cc:7.RP.A.2.a Points Possible: 1

Part B
When extended, does the ray pass through the point (18, 30)? Justify your answer.

Respond in the space provided.

Exemplar Student Response:
Equivalent answers and alternate explanations are also accepted. When prompted, answers may vary due to
rounding or estimation.

Yes, the ray passes through the point (18, 30) because it is proportional to the point (3, 5), which is also on
the ray.

3 18

5 30



Evidence Statement(s):
1. Student used proportional reasoning, made equivalent ratios, or found the constant of
proportionality to determine that the ray goes through the point (18, 30).

Common Misconception(s):
» Student tried to use the constant of proportionality but used the inverse (0.6) instead of 5/3.
» Student may have reversed the coordinates and thought the ray would go through (30, 18) instead
of (18, 30).
« Student did not understand how to use a point on the graph to determine if a point off the graph
was proportional; may not understand how a point not represented on the graph is related to

points on the graph.
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Item Id: 1139099 Item Type: Selected Response
Standards Description:
7.RP.A.2.c Represent proportional relationships by equations.

Primary Standard: cc:7.RP.A.2.c Points Possible: 1

The graph below shows the cost, in dollars, per notebook at the school store.

Notebook Costs

14

12

10 /

Cost (in dollars)
(@)}

1/
V ,

0 1 2 3 4 5 6 7
Number of Notebooks

Which equation represents the total cost, ¢, per n notebooks?

A.n=2t Student represented the intervals on the y-axis as the
constant of proportionality and switched the variables.

B.n =24t Student switched the variables.

C.t=24n Correct.



D.t=0.42n Student correctly used a point on the graph, but
represented the inverse unit rate, OR reversed the
variables, and rounded to the nearest hundredth.
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Item Id: i138288 Item Type: Multiple Select

Standards Description:
7.RP.A.2.d Explain what a point (z, y) on the graph of a proportional relationship means in terms of
the situation, with special attention to the points (0, 0) and (1, r) where ris the unit rate.

Primary Standard: cc:7.RP.A.2.d Points Possible: 2

Tyrone works at a furniture store and assembles chairs at a constant rate. The number of chairs that Tyrone
assembles is proportional to the amount of time he works, as shown in the graph below.

Chairs Assembled
A by Tyrone over Time
15

£12

<

o

= 9

S)

S

26

5

Z 3

>
0 1 2 3 4 5
Time Worked (in hours)

Based on the graph, which statements are true?
Select all that apply.
A. The point (0, 0) shows Tyrone assembles 0 chairs Correct.
when he works for 0 hours.
B. The point (0.5, 1.5) shows Tyrone Student misinterpreted the x- and y-values.

assembles 0.5 chairs when he works for 1.5 hours.



C. The point (1, 3) shows Tyrone assembles 3 chairs Correct.

when he works for 1 hour.

D. The point (3, 9) shows that, when Tyrone works
for 9 hours, he assembles 3 chairs.

E. The point (3.5, 10.5) shows that, when Tyrone
works for 3.5 hours, he assembles 10.5 chairs.

Student misinterpreted the x- and y-values.

Correct.
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Item Id: i137889 Item Type: Selected Response

Standards Description:

7.RP.A.2.b Identify the constant of proportionality (unit rate) in tables, graphs, equations, diagrams,

and verbal descriptions of proportional relationships.
Points Possible: 1

Primary Standard: cc:7.RP.A.2.b

In the table below, the number of pounds of blueberries is proportional to the number of pounds of strawberries.

Pounds of Strawberries Pounds of Blueberries
1 1
3 53
4 1
10 5 8 T
1 3
12 B 9 3
15 1
11 1

What is the number of pounds of blueberries per pound of strawberries?

A 3 Correct.
"4
B 2 Student found the unit rate of pounds of blueberries
7 per pound of strawberries in the first row using whole

numbers only; may have thought only whole pounds
should be used to calculate a unit rate.

c 1t Student found the unit rate of pounds of strawberries
per pound of blueberries.

D.1° Student found the difference between pounds of

strawberries and pounds of blueberries in the first row.
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Item Id: 1112950 Item Type: Constructed Response

Standards Description:

7.RP.A.1 Compute unit rates associated with ratios of fractions, including ratios of lengths, areas
and other quantities measured in like or different units.
7.RP.A.2.c Represent proportional relationships by equations.
17A
Primary Standard: cc:7.RP.A.1 Points Possible: 2
Part A

3 .. .1 . . . 3
On Monday, Becca ran 3 1 miles in 3 of an hour, and Alice ran 5 1 miles in 1 of an hour.

Who ran faster, and by how many miles per hour? Justify your answer.

Respond in the space provided.

Exemplar Student Response:
Equivalent answers and alternate explanations are also accepted. When prompted, answers may vary due to
rounding or estimation.

Becca:

3
3 1 miles/ - hour =

15 .
T miles / = hour =

2 30 1.
X 1=7=7;3 miles per hour

15
4 4

Alice:




1. 3
5;1 miles / 1 hour =

21 3
T miles / 1 hour =

[\

1

4 84 )
T X3=p = 7 miles per hour

12
Becca ran faster than Alice by % of a mile per hour.

Evidence Statement(s):
1. Student computed unit rates associated with ratios of fractions to determine how many miles per

hour Becca and Alice ran.
2. Student used their calculated unit rates to determine which runner ran faster and by how many

miles per hour.

Common Misconception(s):
» Student attempted to compare the runners' rates without calculating the unit rates; may have
thought that Alice ran at a faster rate per hour because she ran more total miles.
« Student did not calculate unit rates with fractions; may have rounded up or only calculated using

whole numbers.
» Student made a computational error when solving for the runners' unit rates.

17B

Primary Standard: cc:7.RP.A.2.c Points Possible: 2

Part B
Write an equation that represents the number of miles, m, Becca ran in 4 hours on Monday.

Write an equation that represents the number of miles, m, Alice ran in 4 hours on Monday.
Explain how you determined your equations.

Respond in the space provided.

Exemplar Student Response:



Equivalent answers and alternate explanations are also accepted. When prompted, answers may vary due to
rounding or estimation.

Becca:

m = 7.5h

I created both of these equations by multiplying each runner's unit rate by 4, the number of hours, to
calculate the number of miles, m, each runner ran in # hours.

Evidence Statement(s):
1. Student used the unit rate calculated in Part A to create an equation to represent the number of
miles Becca ran in A hours.
2. Student used the unit rate calculated in Part A to create an equation to represent the number of
miles Alice ran in A hours.
3. Student explained how they used their calculated unit rates from Part A to create the equations.

Common Misconception(s):
» Student reversed the variables in their equations.
» Student did not recognize to use the unit rates from Part A as parts of their equations; may have
used the ratios given in Part A to create their equations.
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Item Id: 1138289 Item Type: Selected Response

Standards Description:
7.RP.A.2.d Explain what a point (z, y) on the graph of a proportional relationship means in terms of
the situation, with special attention to the points (0, 0) and (1, r) where ris the unit rate.

Primary Standard: cc:7.RP.A.2.d Points Possible: 1

The graph below shows the relationship between the distance traveled by a car and the gas used by the car.

A Car’s Gas Mileage
250

[\
S
(=)

150

100

Distance (in miles)

9]
S

0 2 4 6 8 10
Gas Used (in gallons)

Which statement correctly represents the point (7, 175)?

A. The car travels 7 miles per gallon of gas used. Student thought the x-value of the point represented
the unit rate.

B. The car travels 175 miles per gallon of gas used. Student thought the y-value of the point represented
the unit rate.

C. The car travels 7 miles for every 175 gallons of gas Student switched the x- and y-values.

used.



Mathematics Grade 7 Assessment 1

D. The car travels 175 miles for every 7 gallons of Correct.
gas used.

Amplify Interim 1 Math gr7 21-22 Paper page 32 of 37

© 2021 Achievement Network.
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Item Id: 1129749 Item Type: Math Short Answer

Standards Description:
7.RP.A.2.b Identify the constant of proportionality (unit rate) in tables, graphs, equations, diagrams,
and verbal descriptions of proportional relationships.

Primary Standard: cc:7.RP.A.2.b Points Possible: 1

The graph below represents the number of cars that can be cleaned over time at Sparkle Car Wash.

Cars Cleaned over Time

A
50
45
40 7

AN

(=)

N

Number of Cars
(\] N (99] (98]
(V)]

9
AN

AN

(V)]

o'/T >
05 1 15 2 25 3 35 4 45 5
Time (in hours)

How many cars can Sparkle Car Wash clean per hour, rounded to the nearest tenth?

Respond in the space provided.

If your test is on paper, write your answer on the answer sheet.




Mathematics Grade 7 Assessment 1

Correct Answer:
8.3 cars

Amplify Interim 1 Math gr7 21-22 Paper page 34 of 37
© 2021 Achievement Network.
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Item Id: 1138984 Item Type: Selected Response

Standards Description:
7.RP.A.2.c Represent proportional relationships by equations.

Primary Standard: cc:7.RP.A.2.c Points Possible: 1

Kenwyn is making flower arrangements for an event. The table shows the number of flower arrangements, f, she
can make in m minutes.

Time, in minutes (m) Number of flower arrangements (f)
32
48
64
80 10

Which equation represents the relationship between the number of flower arrangements she can make and the
time, in minutes, it takes her to make the flower arrangements?

A.f=0.125m Correct.

B.f=2m Student used the interval increase in the number of
flower arrangements as the constant of proportionality.

C.f=8m Student found the constant of proportionality that,
when multiplied by the number of flower
arrangements, will yield the number of minutes; did
not attend to the placement of variables in the
equation.

D.f=m+ 16 Student represented the interval increase in the
minutes, without looking at the number of flower
arrangements.
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Item Id: 1138290 Item Type: Constructed Response

Standards Description:
7.RP.A.2.d Explain what a point (z, y) on the graph of a proportional relationship means in terms of
the situation, with special attention to the points (0, 0) and (1, r) where ris the unit rate.

Standard(s) for Mathematical Practice:

MP2 Reason abstractly and quantitatively.
In this item, students must be able to decontextualize to determine a coordinate point,
reasoning that because the graph is a straight line through the origin, the point will be
proportional to (5, 175), and then contextualize the meaning of that point.

Primary Standard: cc:7.RP.A.2.d Secondary Standard(s): cc:7.RP.A.2.b
Points Possible: 2

The graph below shows the relationship between the time in hours, z, and the cost in dollars, y, to hire a face
painter.

Cost to Hire a
A Face Painter

200

150 /

100 /
/
50 /

/4

0 1 2 3 4 5 6
Time (in hours)

Cost (in dollars)

L
>

What is the value of y in the point (1, y)? Explain what this coordinate point represents in the context of the
situation.



Respond in the space provided.

Exemplar Student Response:
Equivalent answers and alternate explanations are also accepted. When prompted, answers may vary due to

rounding or estimation.

The y-value is the cost and the z-value is the time, so the point represents that the cost of hiring a face

painter for 1 hour is 35 dollars.

Evidence Statement(s):
1. Student used the proportionality of the relationship represented in the graph to determine the
value of y in the point (1, y).
2. Student explained that the point represents the cost of hiring a face painter for one hour.

Common Misconception(s):
 Student tried to visually identify the y-value when z is 1 instead of using the point (5, 175).
» Student interpreted the interval on the y-axis as the unit rate; concluded it costs $50 for 1 hour.
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DIRECTIONS

In this assessment you will answer a total of 25 questions, including 4 constructed-response
question(s). Mark all of your answers to the questions on the answer sheet provided.

You may use this test booklet to work out the questions, but remember to mark all of your
answers on the answer sheet. For constructed-response questions, record your answers directly
on the page in the test booklet.

Calculator Section

You may use a calculator to solve the questions in this section.

1. The temperature increases from 18°F to 2. Maria invests $600 in a bank account that
27°F. earns simple interest. She earns $30 at the
end of 12 months. Janae invests $350 at
What is the percent increase of the the same rate of interest for 12 months.
temperature?
How much money will Janae earn on her
A. 3% $350 investment after the 12 months?
B. 9% A. $5.00
C. 33% B. $12.50
D. 50% C. $17.50
D. $47.50




3. Luisa buys a plane ticket that has an
original price of $240. She uses a coupon
code to get a 30% discount off of the
original price. She is then charged a 7%
tax on the discounted price.

What is the final cost for Luisa's plane
ticket?

$77.04

$156.24

$179.76

o 0w p

$217.00



4. In March, Arnold finds a guitar with a price of $650 that he wants to buy, but he only has
$300 saved.

In September, Arnold has 75% more money saved, and the guitar is on sale for a 30%
discount off the original price. The sales tax is 5% of the sale price.

Does Arnold have enough money to buy the guitar in September? Justify your answer.

Respond in the space provided.



Non-Calculator Section

You may not use a calculator to solve the questions in this section.

&)

5. Which expression is equivalent to the 7. Use the number line to answer the
expression below? question below.

_ —t—— >
v a b 0 c d
A (=) + (=) Which of the following are true?
B. y+1=z
C. y+ (—) Select all that apply.

D. —y+=x A. b+c=0
B. a+0>0

C. vb+d>0

D. c+a>c

6. Find the product. E. d+a=0

8 6

9 X 77
56
A —¢
48
B. =
48
C. &
p.

54




8. Because Kendall's business spent more money than it collected, the business's balance
sheet showed a balance of —$1,280 at the end of the month. The next day, Kendall's
business spent $560 on new tools.

Part A
Kendall determines that the new balance is —$720 because —1,280 + 560 = —720.

Did Kendall correctly determine the new balance?
e Explain why or why not.
« If not, calculate the new balance.

Respond in the space provided.

Part B
The following month, Kendall's business's balance sheet shows a balance of —$516.
Kendall wants his business to have a balance of $300 after 6 more months.

If Kendall's business plans to profit the same amount each month, how much money does
it need to profit each month to have a balance of $300 after 6 more months? Show your

work.

Respond in the space provided.



9. Which expression can be used to find the | 11. What is the value of the expression?
value of the expression below?

a2
6.1 — 5.4 — (=7.7) o8
7
A. 61—54—177 A -1
B. 6.1+ 5.4+ (—7.7) B. _1
C. 61+77—54 2
C. ——
D. 6.1+ 7.7+ 5.4
2
D. =

10. Which expression could be used to

i ? . . .
evaluate the expression below 12. Which expressions will have the same

quotient as the expression below?

3
—25 X 6
—(3)
3
A. -2 x 6 — 3
Select all that apply.
3
B. —2<5 X —3>
A !
C. (—2><6)+(g><6) !
B.
D. (—2><6)+(—§><6) -
y
C. —
D. —(y+ —1)




13. The lowest elevations of Argentina and
Peru are both below sea level. The lowest
elevation in Argentina is about 345 feet
below sea level. The lowest elevation in

: 1 .
Peru is about 3 the value of Argentina’s

lowest elevation.

Which value best represents the lowest
elevation, in feet, in Peru?

A. —1,035
B. —115
C. 115

D. 1,035



14. The lowest land altitude in the world is —413 meters. The lowest land altitude in the
United States of America is —86 meters.

Part A
Write two different expressions that correctly represent the vertical distance, in meters,

between the two altitudes.

Respond in the space provided.

Part B
What is the vertical distance, in meters, between the two altitudes? Show your work.

Respond in the space provided.



15.

16.

Which expression can be used to find the
value of the expression below?

—4(5 + (=2))

—4 x5 — 2

(—4 x 5) + (4 x 2)

(—4 x 5) x (—4 x —2)
(—1) x ((4 x 5) + (4 x 2))

o 0w p

Which expression can be used to find the
value of the expression below?

~(55)+ 5 + 15— (5)

17.

18.

Which decimal best represents g ?
A. 0.4545
B. 045
C. 0.455
D. 0.455

During a scientific experiment the
temperature of a container decreased by

1
35.7°C at a constant rate over 8 3 hours.

What value represents the change in the
temperature of the container each hour?

A. —8.9°C
B. —4.4°C
C. —4.2°C
D. 4.2°C



19. Which equations are represented by the number line below?

+ o0
+ =~
+ ©
+
+ <
+ on

+

Select all that apply.

1—-8=9

A.

—8

1-9

B.

1+ (9) =8

1—(-9)=-8
1+ (—9) =-8

D.



20. Compute.
3 .
s + 025
1
A. —15
2
B. —3
2
C. 3
1
D. 15
21. The temperature at noon was —4°C. By

midnight, the temperature dropped 8°C.

Which expressions represent the
temperature at midnight?

Select all that apply.
A. —4+48

B. —4 -8

C. |—4—8

D. —4 + (-8)

E. —4—(-8)

F. |—4—(-8)]

22. Which expression could be used to find
the value of the expression below?

17

— 4

—8

A.

17+ =
__—147><8
(5 % 1)
17><—%><—%

23. Which situation describes quantities that
combine to make zero?

A.

Fred owes his friend a debt of $30.50.
Fred spends the same amount on gas.

) 2
A climber starts at 10 3 feet above sea

level. The climber climbs up 10 ; feet.

Kara borrows $25.25 from her sister.
Kara pays back the full amount to her
sister.

Chad has 100 % rewards points after

the first month of joining a rewards
program. By the end of the second

month, he still has 100 % reward

points.



24. Box A weighs 212.04 kilograms. Box B

weighs 212 i kilograms.

Which statement is true?

A.
B.

The boxes weigh the same amount.

Box B weighs 0.10 of a kilogram more
than Box A.

Box A weighs 0.15 of a kilogram more
than Box B.

Box B weighs 0.21 of a kilogram more
than Box A.



25. Part A
Karissa says that to represent the expression —7 — (—9) on a number line, she should start
at —7 and move 9 units to the left.

Is she correct? Explain why or why not.

Respond in the space provided.

Part B
Hugo thinks that the equation below is true.

(=3)+(—8) —4=(-3)—8—14
Is he correct? Explain why or why not.

Respond in the space provided.
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Item Id: i130561 Item Type: Selected Response

Standards Description:
7.RP.A.3 Use proportional relationships to solve multistep ratio and percent problems.

Primary Standard: cc:7.RP.A.3 Points Possible: 1

The temperature increases from 18°F to 27°F.

What is the percent increase of the temperature?

A. 3% Student divided the final value (27) by the difference in
value (9), and represented the quotient as a percent.

B. 9% Student misinterpreted the temperature increase, in
degrees, as the same as the percent increase.

C. 33% Student divided the difference in value (9) by the final
value (27) instead of the initial value (18), rounded to
the nearest hundredth, and represented the quotient as
a percent.

D. 50% Correct.




Item Id: i130562 Item Type: Selected Response

Standards Description:
7.RP.A.3 Use proportional relationships to solve multistep ratio and percent problems.

Primary Standard: cc:7.RP.A.3 Points Possible: 1

Maria invests $600 in a bank account that earns simple interest. She earns $30 at the end of 12 months. Janae
invests $350 at the same rate of interest for 12 months.

How much money will Janae earn on her $350 investment after the 12 months?

A. $5.00 Student found the interest earned on $100 for a year,
OR represented the percent increase as a dollar
amount.

B. $12.50 Student found the difference in the amount of simple

interest earned between $350 and $600.

C. $17.50 Correct.

D. $47.50 Student calculated the interest earned on $350 and
added it to the interest earned on $600.




Item Id: i130560 Item Type: Selected Response

Standards Description:
7.RP.A.3 Use proportional relationships to solve multistep ratio and percent problems.

Primary Standard: cc:7.RP.A.3 Points Possible: 1
Luisa buys a plane ticket that has an original price of $240. She uses a coupon code to get a 30% discount off of
the original price. She is then charged a 7% tax on the discounted price.

What is the final cost for Luisa's plane ticket?

A. $77.04 Student correctly found 30% of the original price, but
then used that as the sale price instead of the discount,
and correctly added the tax based on the incorrect first

step.
B. $156.24 Student subtracted the tax instead of adding.
C. $179.76 Correct.
D. $217.00 Student ignored the percent signs, subtracted $30 from

$240, and then added $7 for the tax.




Item Id: i138607 Item Type: Constructed Response

Standards Description:
7.RP.A.3 Use proportional relationships to solve multistep ratio and percent problems.

Standard(s) for Mathematical Practice:

MP1 Make sense of problems and persevere in solving them.
In this item, students need to plan a solution pathway for solving a multi-step real-world
problem. Students should monitor their progress with each step, asking themselves “does
this make sense?” with reference back to the context of the problem.

MP4 Model with mathematics.
In this item, students may create models, like equations, to help simplify a complex
situation.

Primary Standard: cc:7.RP.A.3 Points Possible: 4

In March, Arnold finds a guitar with a price of $650 that he wants to buy, but he only has $300 saved.

In September, Arnold has 75% more money saved, and the guitar is on sale for a 30% discount off the original
price. The sales tax is 5% of the sale price.

Does Arnold have enough money to buy the guitar in September? Justify your answer.

Respond in the space provided.

Exemplar Student Response:
Equivalent answers and alternate explanations are also accepted. When prompted, answers may vary due to
rounding or estimation.

Arnold's money in September:
300 x 0.75 = 225
300 + 225 = 525

Cost of the guitar in September:
650 x 0.7 = 455

455 x 0.05 = 22.75

455 + 22.75 = 477.75




In September, Arnold has $525 and the guitar can be purchased for $477.75. Yes, Arnold has enough money
to buy the guitar in September.

Evidence Statement(s):
1. Student used proportional relationships to calculate the total amount of money Arnold has in
September.
Student used proportional relationships to calculate the sale price of the guitar in September.
Student used proportional relationships to calculate the sale price of the guitar with the sales tax in
September.
4. Student determined that Arnold has enough money to buy the guitar in September.

Common Misconception(s):
» Student did not understand how to find percent of a number and instead may have used the
percent values as whole numbers.
« Student did not understand how to apply a percent increase, sales tax, and/or a discount and may
have used the incorrect operation.



Item Id: i116567 Item Type: Selected Response

Standards Description:

7.NS.A.l1.c Understand subtraction of rational numbers as adding the additive inverse, p — ¢=p +
(—¢). Show that the distance between two rational numbers on the number line is the
absolute value of their difference, and apply this principle in real-world contexts.

Primary Standard: cc:7.NS.A.1.c Points Possible: 1

Which expression is equivalent to the expression below?

Yy—

A (—y) + (—=) Student changed the operation but thought they
needed to use the additive inverse of both terms.

B.y+ =z Student changed the operation without using the
additive inverse of x.

C.y+ (-2 Correct.

D.—y+ = Student changed the operation but used the additive

inverse of the wrong term (y instead of x).




Item Id: i110213 Item Type: Selected Response

Standards Description:
7.NS.A.2 Apply and extend previous understandings of multiplication and division and of fractions
to multiply and divide rational numbers.

Primary Standard: cc:7.NS.A.2 Points Possible: 1

Find the product.

8 6
—_—— >< —_——
A _ 56 Student multiplied the first fraction by the reciprocal
o of the second and made the product negative; perhaps
confused the procedure for multiplying fractions with
the procedure for dividing fractions.
B _ 48 Student represented the product of two negative
63 numbers as a negative number.
48 Correct.
C. =
D 56 Student multiplied the first fraction by the reciprocal

R of the second; perhaps confused the procedure for

multiplying fractions with the procedure for dividing
fractions.




Item Id: i113028 Item Type: Multiple Select

Standards Description:

7.NS.A.1.b Understand p + ¢ as the number located a distance |¢| from p, in the positive or negative
direction depending on whether ¢ is positive or negative. Show that a number and its
opposite have a sum of 0 (are additive inverses). Interpret sums of rational numbers by
describing real-world contexts.

Primary Standard: cc:7.NS.A.1.b Points Possible: 1

Use the number line to answer the question below.

—t——— ] —t—>
a b 0 ¢

Which of the following are true?

Select all that apply.

A.b+c¢c=0 Correct.

B.a+b>0 Student did not recognize that adding a negative, b, to
a negative, a, would decrease its value by |b| and
therefore make a + b <b.

Cbh+d>0 Correct.

D.c+a>c Student did not recognize that because a is negative,

the value of ¢ will decrease instead of increase; thought
that the value of c would increase, instead of decrease,
by |al.




EEd+a=0 Student did not recognize that adding a to d would
decrease d's value by |al, resulting in a difference
greater than 0; may have thought that a and d were
opposites and would sum to zero.



Item Id: 1110227 Item Type: Constructed Response

Standards Description:
7.NS.A.3 Solve real-world and mathematical problems involving the four operations with rational
numbers.

Standard(s) for Mathematical Practice:

MP1 Make sense of problems and persevere in solving them.
In Part B, students need to determine a solution pathway to solve a multi-step word
problem. Students may use equations to solve and should interpret their solution in the
context of the situation to determine if their model, or equation, was effective.

MP?3 Construct viable arguments and critique the reasoning of others.
In this item, students need to identify and explain an incorrect solution. They need to
communicate clearly and provide a correct solution.

8A

Primary Standard: cc:7.NS.A.3 Points Possible: 2

Because Kendall's business spent more money than it collected, the business's balance sheet showed a balance
of —$1,280 at the end of the month. The next day, Kendall's business spent $560 on new tools.

Part A
Kendall determines that the new balance is —$720 because —1,280 + 560 = —720.

Did Kendall correctly determine the new balance?

« Explain why or why not.
» If not, calculate the new balance.

Respond in the space provided.

Exemplar Student Response:
Equivalent answers and alternate explanations are also accepted. When prompted, answers may vary due to
rounding or estimation.

Kendall did not correctly determine the new balance. He should have subtracted $560 or added —$560 to




show the balance is decreasing. The equation should be —1,280 — 560 = —1,840.
The new balance is —$1,840.
Evidence Statement(s):

1. Student recognized that Kendall's business's balance should decrease, instead of increase.
2. Student applied understandings of addition and subtraction to solve.

Common Misconception(s):
« Student thought Kendall made a computation mistake; may have thought —1,280 + 560 was equal

to —1,840.
» Student identified Kendall used the incorrect operation, but thought —1,280 — 560 was equal to
—T720.
8B
Primary Standard: cc:7.NS.A.3 Points Possible: 2

Part B
The following month, Kendall's business's balance sheet shows a balance of —$516. Kendall wants his business
to have a balance of $300 after 6 more months.

If Kendall's